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WALT: Apply taught skills to solving ‘real-life’ problems involving measurements
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Hint:  1 foot = 30 cm


Problem 2:  Slabs cost £11.98 each.  How much will it cost me?

Extension:  I break 1 slab, so need 1 extra slab plus 5 bags of sand costing £3.07 each.  How much does the patio cost me in total?

	WILFs – Success Criteria
	You
	Teacher

	I can read and understand a problem in a real life context
	
	

	I can understand what needs to be done first to solve the problem and what needs to be done next
	
	

	I can choose a suitable method to represent and solve the problem
	
	

	I can choose a suitable method to represent and solve the problem
	
	

	I can estimate and check my calculations
	
	

	I can record the steps of my working out clearly
	
	

	I can interpret the calculator display
	
	

	I can present my answers in the context of the problem
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